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OMN AR GERZBT. 727 L& 2 Zr=a mod n DIBICET Z L.

(1) r =-3 mod9 =2 mod 4 5 r =3 mod 18
z =10 mod 16 = -3 mod>H r =9 mod 24
=4 mod 11

ROEDIEKR L/ K DIKRELL : K] 2K k.

(1) L=Q(V3), K=Q
(2) L=Q(V5,V7), K=Q
(3) L=0Q(vV2,V2.¥2). K =

RDIG a DHBEE Q Lo/ f.(x) ZRKd X

5— 17 (2) a=3v3-2V2

(1) a= 1

4) BN f(r) =2 + 24+ 2 L gla) =22+ 1 ITRL, f(z) & glz) DRAAKIR d(z) =
GCD(f(z),g(z)) ZRKD L. £7-

f(@)a(z) + g(x)b(z) = d(x)
Zii 7z T %HRN a(z), b(z) 2 1 5 2 XK.

5] AHEUA Q DIRBIEK Q(a) IB VT, KD a DEHK f(a) % a DLHARDOH THY.
72U, HHEAROREUTIERKE Qo) - Q) KMTEL K.

1
W) a=2-2v2, flo) =53y
3 - «
(2) a=V3, flo)= 5
} 1
() aBIER" +a* +a' + 2’ + 2 +o+1 =008 (D—2),  fla) = =7
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(1) =42 mod 144 (2) =202 mod 220 (3) 2 =57 mod 72
1) 3 (2 4 B 8

(1) folz) =22 - gzzc + % (2)  falz) = 2* — 7022 + 361

dlz)=1, a(z)= 1—10(—m +3), b(x)= %(x?’ — 32 —x+4)

(1) 5 (2) 10(3a2 +a—3) (3) —a*—-2a%°—-202—-a



